Polinomi numerici

Scrivi il numero corrispondente.

Esempio: 3 -10% +4 - 10' = 3040
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2102 +1-108 = ...
S10t = ...
10 4+2-102 + 7-
2100 = ...
10° +4-103 +1-
2103 +4-10% +6-
104 +1-102+7-
<106 +7-10*+3-
102 +4-10t = ...
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Scrivili in forma polinomiale.
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Esempio: 26719 =2-10* 4+6-103+7-102+1-10' +9 - 10°
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125 = ...

3422 = ...

95210 = ...

8721 = ...

148 = ...

12984 = ...

1069 = ...

953400 = ...

392 =...

79008 = ...

899 = ...

56700278 = ...

Sedooc.com

[1-102+2-10" +5-10°]

[3-10% +4-10% +2-10' +2-10°]

[9-10* +5-10% +2- 102 + -10]

[8-10% +7-10%+2-10' +1- 10

[1-10%+4-10" +8-10°

[1-10*4+2-10%+9-10% +8-10' +4- 10

[1-103+6-10" +9-10°]

[9-10°+5-10* +3-10% 4+ 4 - 10?]

102 4+9- 10" +2-10°]

104 +9-103 + 8- 10°]

102 4+9-10" +9-10°)

[5-107 + 6¢dot10° +7-105 +2-10% +7- 10" + 8 - 10°]

Per info contattare: speak@redooc.com



